AERICRIEIERu)

ea-fig R g ¢

1.

THHT ax’ +bx+c=0.a=0 Foa@ F9@xv g, 5949 a. b, ¢ I=ala®
HE&T g | 9EER©T 2% - 3x+1=0.
feama wieor & ga
TE ARAAS G a B [FET TGO BT A FE o1 Gl § q(e aa’+
ba+ec=0
Al D AT Tud FHE0 & 2 gd T ¢ |
faoma st g@ & &1 faiy

nvné'zm t{vfa'rf?%ﬁzm fgmv#r{ﬁm

fZara ¥R axl+bx+c=0 = g9 ©
_ —b++b*—4ac -b-+/b*-4ac

2a 2a
fafaaaex 1 Zoa T ax +bx+ =09 3 fafdeeaw D = b - 4ac
BT 2
3ITd D =b? - 4ac 11 R fZum@ 6T & ga =1 €

X

_b=vD _-b-VD
el &1 @HE
v v +
afg D>0 @t 4l gfe D=07¢l 4 afe D<o

ardfad AN HFHA  AEaH AR G9H sEwdtss o sl
= B u& #h



8. U, pladl ffod sgue & Y= &1, o 9gU<

p(x) =k [x* — (DT BT I x + DI Bl o6
Bl kPIs grdfds G=T 8 a7 k =0



